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sll=d

=YIUHEH X
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el FANFY L CGERE
SN BB O (B0) - NRAY - BaS o . Jlme RS2

=s=8J|=¥ 30,198,475 30,266,028 AB6,553

= 6,226,991 6,456,991 A230,000

& 9,859,000 9,859,000 0

71 65,500 47,500 18,000

&2 937,009 937,009 0

T 13,110,975 12,965,528 145,447

sAMESN M(sHHSS/ =S - &) 852,350 683,920 168,430

AAnAG 2 747,650 579,220 168,430

BEMNIIsEZ 600, 150 431,720 168,430

201 ger23H| 422,950 254,520 168,430

02 25228l 375,450 207,020 168,430

OHIIRZ FIHAAEE #HAH) 168,430 0 168,430

DUCES J|al e (s8ilgsd/s - &) 4,943,514 4,923,514 20,000

= 2,057,860 2,057,860 0

& 2,007,000 2,007,000 0

& 878,654 858,654 20,000

SQICH g3 N 558, 120 538, 120 20,000

= 119,800 119,800 0

& 438,320 418,320 20,000

SQQItH 29 843t 70,000 50,000 20,000

405 RH&HHE S| 20,000 0 20,000

01 ML EEHEH 20,000 0 20,000

OUWLSE % 3|94 e, 2% 20,000 0 20,000

oY L FEE I (sHNLS M/ sF) 9,122,772 9,334,772 A212,000

= 3,409,896 3,639,896 A230,000

& 3,815,000 3,815,000 0

9| 65,500 47,500 18,000

& 937,008 937,009 0

< 895,367 895,367 0

gty orEE JlsEs 3,110,556 3,340,556 A 230,000

= 2,906,446 3,136,446 A230,000

= 204,110 204,110 0

AEESAE (=) 2,906,446 3,136,446 A230,000

= 2,906,446 3,136,446 £ 230,000

403 MHXSHEREZ0IH 2,906,446 3,136,446 A 230,000

= 2,906,446 3,136,446 A230,000

01 X SHHAE2EE 2,906,446 3,136,446 A230,000

QMBS AY 2,906,446 3,136,446 A230,000

= 2,906,446 3,136,446 £230,000

Y BEIE XD 483 4,940,207 4,922,207 18,000

= 503,450 503,450 0

= 3,815,000 3,815,000 0

I 65,500 47,500 18,000

< 556,257 556,257 0
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HE: HEOA U HWES Jael(sHMLSN/5Y - 5E)

EERRT T PIEES e (Gl ®E)
SN -ES . (E) - NSAY - BES oflare Il G mE=l
HASENEF A EAG(2D) ] B 18,000 0 18,000

I 18,000 0 18,000

308 ArxietHsSoIA 18,000 0 18,000
| 18,000 0 18,000

01 AXSHBEEES 18,000 0 18,000
OUAERE MNEFXEAMNL(ESAHA 18,000 0 18,000

Il 18,000 0 18,000

B2 YL (YIS (OIE/IIED) 7,941,342 7,988,342 £47,000
= 7.500 7,500 0

< 7,933,842 7,980,842 ANA4T7,000

oI5 2| 7,654,397 7,701,397 247,000
2 7,500 7,500 0

= 7,646,897 7,693,897 247,000

2 IAY 147,912 156,712 28,800
101 Q12| 147,912 156,712 A 8,800
03 RIAA2Z X2+ 147,912 156,712 28,800
OAI AR 147,912 156,712 A8,800
O&JI2EIEZ 5,760 6,860 1,100
OAZt2 2R+ 2,925 6,925 24,000
OexragIaY 4,979 6,279 21,300
Oogasd=24UEEE) 11,847 14,247 A2,400

A0l AIB S TAY 309,592 323,092 A 13,500
101 i H| 309,592 323,092 213,500
03 I HL2EXNE S 309,592 323,092 A 13,500
OAMSARE 309,592 323,092 13,500
OANZI2 2R 16,029 24,929 28,900
OexRE/IIE 7,957 12,557 24,600
A=Y ANEHIAY 245,380 270,080 224,700
101 2lzit] 245,380 270,080 A24,700
03 RIHA2ZNE = 245,380 270,080 224,700
QA RE 245,380 270,080 224,700
oJiEag 112,347 114,318 21,971
Oatd=z 37,153 38,106 A953
OFg=d 22,338 22,776 2438
O&IIZHIAZ 10,089 10,289 A200
OAZIAZ2 R 8,774 20,774 A 12,000
ORISR/ ISY 5,700 10,464 A4, 764

OHE R 5,700 6,000 2300
Oz=4ltl 15,288 15,600 A312
OuEY| 7,056 7,200 N144
OYAEREI(UUEER) 20,935 24,553 A3,618
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